e @ GV 15 1342 | [qIf% : 100

g :

Q) TN & 15 e TR B yea.gy g3 & forg RUiRa & 1

Giy 39594 § FT A IHE |

Gii) @My S7Har B |

v IO YT IRV B LT Ieohg fasgr & 1 0% [ad @UE 5T #A 8
w) N & 3P ITH GG HHT 8 |

(vi) F9H Y @ ARAT BT 3N 37 % e T5Y /

(vii) T FET 7 T &, I W GHY 7% 5y FHw |

i.
(%) AR ATH T AE R A AZ=AR, T A+ D3 -TA T : ]
i) A ' Gi) 3A
(i) 1 iv) I-A
(9) Icosgxdx & q= Z10 . ]
. 1 . X i 1 X
(1) =sin2x+=+c¢c v (i1) ——isxn2x+z+c
1 . . 3 2
(111) 00521’ = singx +C - (iv) -~ Z 8in 2x + -:I +C
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D 1 (11) 0
(i) -1 ) 2
(%) a2y) (dy) .7 0 #)
FHA Wit g LY | 4|2 | + TS
9[&2 } + [dx) BRI m : ]
G 2 i) 3
(i) 6 (v} 5
(g) ﬂ'ﬁ A={G,b,CL B={2j3l4]’aAﬁBﬁwm: I
0} {la,2),(a, 3), b, 3), (c, 4) W) {(a,3), (a,2) 5. 2) (. 4)]
(i) ((a, 3), (&, 2). (c. 3)) W) i(a,2), (5, 4), (b, 3), (c, 4)
2. Yt gug St .
(%) tan™!(V3) - sec) (_ 9) 1 7 T HFw | !

A A A A A A
(@) aRafwoi+ 4 paqu; -4+ 0k I B, A AFT A Fa Ffw |
(Tr PA) = 0 _ 0.
) AR PA) = 06, PB) = 03 3R PANB) = 018, 7 PB|A) F1 79 T

EAE ]
dy
(47) i:%mmmmﬁml 1
- _ 7 0 -3 0 .
®) o] 5]3,[ o _3| BTy 1
3. W@gﬁﬁt{: .
(%) ‘iﬁA=la,b,c}HmB={a,£7]'3,ﬁBﬁAﬁ%ﬁﬁﬁ@rmﬂ%
aﬁaqﬁmwmbijecﬁve)wﬁﬁmma?rﬁm 2
(TE) ﬂﬁy=Acost+Bsmt,ﬂﬁZﬁﬁmf$ fg-+y=0%l 2
dt
(1) Hﬁmﬂﬁm&aﬂﬂ%aﬁammeﬁ,a‘fﬁzﬁmﬁs
. {8 1., =
51n[§]=—2-fa- | 2
(%) ﬁﬁA(s,—-z,-s)ﬁmmaﬂamqﬁmsb-zf-zg)%mimw
STty geftertor A i | o 2
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4. W S8 Hi4AC

3
2
5

(m) Tag HiET 5
; X y z
2 P 2| aGeph-Da-Daiyes
Ey+z Z+X X+Y
(9) 3erdiE fafa gra tas g guen i Fefdfed oTe
. x+3y<60, x+y220, x<y, x20, y20
& A~ z = 3x + 8y 1 AW A9 HUHAY WH T1d HItT | 5
f|x-2_J x+2
(%) afz fry = | x-2 g sRi¥d ®em f x = 2 W WA aul
1o x=2
HIFAAGA HI F1d hitAC | 5
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6. &% wr Hifym .

3’3%
(3) mﬂ'ﬁﬂ'ﬂi{wu+3y2]%=yﬁ I 5

(9) Emﬁsooﬁmﬁimﬁﬁzaomllmmﬁﬁz%aﬁ

mmlﬁwﬂtlwmﬁmmmzmmmﬁw
R, 39 Wiiiear @ HfT | 5
1 8 3
(M) 1TEA=I1 4 3} E‘f,?ﬁﬁzmﬁu-adm:mu. 5
1 3 4

(%) ﬁfaﬁﬁqﬁwwma’ﬁuR“ﬁ‘“*b}R(c,d)@adwcgwma’iut1 5
(3) Y@t 7 =?+2} _ 4 M2 +3) +6k)
?=3;+3;~52+p(2; +3}+6£)%WW@WWI 5
7. F% e Es Hifve .

(%) e Rfy & s wftem Fwa 8 i - 8
—X+3y~22=3
3x+2y+32=5
-2 +y+z=-4

nl4
I log , (1 +tanx)dx = 385 log, 2
0

X -
(@) [ === dx ¥ R 7 Hfim | | 8
0

1+cos® x
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(English Version)

Instructions : |
(i)  First 15 minutes time has been allot,4 for the candidates to read the question paper.

(ii)  There are in all nine questions in th;e question paper.

(iti)  All questions are compulsory,

(iv) In the beginning of each question, the number of parts to be attempted has been clearly
mentioned.

(v)  Marks allotted to the questions are indicated against them.

(vi) Start solving from the first question and proceed to solve till the last one.

(vit) Do not waste your time over a question you cannot solve.

1. Do all the parts.
Select the correct alternative of each part and write it in your answer book.

(a) IfAis asquare matrix and A2=A, then (A +1)°-7A will be: 1
1) A (i1) 3A
(i) [ (iv) I-A
(b) The value of [ cos®x dx will be: I
(1) isin2x+32:-+c (1) —%sin'Zx+§+c
(iii) cos®x—sin®x +c (iv) - i—sin?.r+ i +C
A A A ﬁ A A .
(¢) Thevalueof —i.i + j.j —k.k willbe: I
1 1 m 0
(i) -1 (iv) 2
[d? ’ ( dy\®
(d) The degree of the differential equation 9i y '?: | + E‘i—- i + Tv=0 will be 1
VBE ) VR
(1) 2 () 3
(i) 6 (v) 5
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‘hen the function from A to B will be : 1
(11) l(a, 3), (a, 2), (b, 2). (¢, 4)}
(iv)  {(q, 2). (5, 4), (b, 3), (c, 4)}

(e} If A=la, b,c),B=234
i) i@ 2). (a, 3), (b, 3), €4
(iii) a, 3), (b, 2), (c, 3

Do all the parts :

1(-2).
(a) Find the value of tﬂﬂ-l (f?; ) — SeC ) ) ,
A .
(b)  If the vectors ‘2? + ; - Ec and i —%J * Ak are perpendicular, then find
the value of A. 1
(© If PA) =06 PB) =03 and PA N B) =018, then find the value of PB|A). I
L ,
(d)  Find the the general solution of =2~ ~ o -
) Ifx+y= 70 Cx-y= -3 0},thenﬁndthevalueofxandy, 1
y= 4 5 ’ 0 - 3
3. Do all the parts :
(@) IfA=1la b cland B=1{a B 7 then find the number of functions and
number of bijective functions from B t0 A. https://www.upboardonline.com 2
d2
(b) Ify:Acost+Bsint,thenprovethat 5—2‘2+y=0. 2
A
(c) If the angle between the unit vectors a and b is 6, then prove that
. (8)_ 1, 1% P
sm[2] ot la - b].
(d) Find the cartesian equation of the line passing through the point
A A A
A(3, - 2, — 5) and parallel to the vector (3¢ + 2 —2%). 2
4. Do all the parts :
(a) Find the interval in which the function flx) = 33 —3x%-36x + 7 is
increasing. 2
al2
(b)  Find the value of I sin? x dx . 2
-x/2
(¢) If Ry and Ry be two equivalence relations in a set A, then prove that
R4 N R, is also an equivalence relation in A. 2
(dy If 3 , f; and ? are vectors and _a+ + 3 + ? = 0, then find the value of
-3 » e A 4 - P
a.b+b.c+c.a. 2
324 (EY) £
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5. Do all the parts :

2 2
- ¥ X o
(@) Find the area of the Part inseribed by the curve oz 18 s .
(b) Find two numberg _ the sum of thei .
minimum. Such thay their sum 13 6 and 'F Cubes is
(¢) Prove that: Z
x y "
oyt J(x+y+2)
< :(x_.y)(y—z)(z-x
yY+z 2+x X+
od un .
o er the follomng Constraints :
TrYE00, x+y290 1y 420, y20 5
[ x-2]
_ X #2 : -
(Q) I flx)={ x-2 is defined, then check its continuity and
0 x=2
differentiability at x = 9 5
6. Do all the parts :
(@) Solve the differential equation (x + 3y%) % = ¥. 9
(b}  There are 500 students in a school in which 230 are boys. It is known that
20% boys are studying in class XII. Find the probabihity that a randomly
chosen student is a boy and is of class XII. o)
1 3 3]
() IfA=|1 4 3|, thenprovethatA.adjA=|A|.] 5
1 3 4
(d) Prove that a relation R on N x N is defined as (e, ) R (¢, d) < ad = be is an
equivalence relation. 5
() Find the shortest distance between the lines
- A A A A A A
r=1+2j -4k +1(2i +3j +6k)and
- A A A A A A N
r =31 +37 -5k + (27 +3j +6k). °
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7. Do any one part -

(@)  Solve the system of linear equation® bY matriy method : 4
-X+3y-22=3
3x+2y+32=90
~2+y+z=-4
2 0 -1]
(b) Find A~L.if the matrixA = |5 1 0 1. 8
013 J

8. Do uny one part :

i

(a) (1) Find the value of j ——mzom s (X
.,ftan X+ le: X
0

(11) Prove :
xl4
j log (1 + tanx)dx = % log, 2. . J
0
n ) |
(b)  Find the value of j 0 B il 8
o 1+cos? x
9. Do any one part :
(a)  Solve the differential equation (1 + y2) dx = (tan™" y=-Xx)dy. 8

sina

' 2
(b) (i) Ifcosy=uxcos(a+y)andcosa <1, then prove that ay _ o8 (a+y) 4

Gi) If y = (sin 2", then find gé”- p
X
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